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QUESTION 1

A customer plans to migrate UNIX and Microsoft Windows clusters from another vendor\\'s array to an EMC Symmetrix.
You are responsible for the design of the VMAX 20K solution that is to be replicated to a metropolitan bunker site. There
is no tolerance for data loss.

Which data is appropriate for the design of this solution?

A. IOSTAT data for Linux, Solaris, and AIX hosts ERFMON data for Windows hosts SAR for HP-UX hosts

B. IOSTAT for Linux and AIX hosts DISKPAR data for Windows hosts SAR data for HP-UX and Solaris hosts

C. IOSTAT data for Linux and AIX hosts PERFMON and DISKPAR data for Windows hosts

D. IOSTAT data for HP-UX and Linux hosts PERFMON data for Windows hosts SAR for AlIX and Solaris hosts

Correct Answer: A

QUESTION 2

You are designing a Symmetrix VMAX SRDF/S over GigE solution. The production and remote data centers are 100 km
apart.

What is the expected write response time delay due to latency?
A.0.5ms

B.1ms

C.2ms

D. 4 ms

Correct Answer: B

QUESTION 3

Which statement is true relative to host-level performance measurement?
A. The host views each logical volume as a separate physical drive.

B. The host views each logical volume as shared storage.

C. The host can "see" the 1/0s and response time globally.

D. The host views comprehensive response times.

Correct Answer: A
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QUESTION 4

What is the EMC recommended network quality for SRDF/S over GigE?
A. Less than 0.1% packet loss

B. Less than 0.01% packet loss

C. Less than 0.25% packet loss

D. Less than 1% packet loss

Correct Answer: B

QUESTION 5

A storage administrator receives a warning message that one of the thin pools in the Symmetrix is low on storage
space. The pool contains a large number of thin devices that have been fully preallocated but have small amounts of
used space. What is the least disruptive and most cost effective way to make more thin pool space available?

A. Run zero space reclamation on the thin devices

B. Add more data devices to the thin pool

C. Unbind the underutilized thin devices from the pool

D. Rebalance the pool

Correct Answer: A
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